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Q.1 v 37w Jut Wefgl & WafUd oA H IUTEAd 9G H 9T FMIT

RAMA : MARA = SITA : _
Find the missing term for the related pair of letter clusters.
RAMA : MARA = SITA:
Ans 1 TSA
X< 2. TIAS
< 3 SIAT
v+~ TISA

*? s gElFEI FaT Y
Growth hormones function:

Ans x 1 i Faft Ty SicaEF F T A
rarely as growth promotors
v
Fir-F=h forw oS s il Rem smthvs S e d

sometimes as growth promotors and sometimes as growth inhibitors

s A faeoTH 3R FFTH
always as growth inhibitors

, g S AcHER F T H

always as growth promotors

x

Q.3 o7 T/ & Oy T Fie WY f 5 435 & Sew W ow Ty s o e i
The least number to be added to 435 to make it a perfect square is?

Ans x1.3
X 2.8
VN
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X4 4

Q.4 x#raﬂ:qiﬂm'aﬂﬂ'gw, Y s & K f A A e e R
e v X & ]
Pointing at X, Y says, “X is the son of the only son of my mother”, Then Y is X's :

Ans H3T
X2

Father-in-law
X 2 m—‘é;
Brother

frar

Father

X 4 alal
Grandfather

v 5

Q5 TR e A B CHR D R § F s sima 16 81 A 3w B &
g o5 ¢ 3l D = FtwE F=w EA?

Four numbers A, B, C and D) are such that their overall average is 16. The average of A
and B is 9.5, The average of C and D is:

Ans X 1.21.5
2225
X3255
x 4. 23

Q6 Fia &1 Bl Faw TF W F FIR A’ AT T § 2
Which permanent tissne makes a plant hard and stiff?

Ans a’ﬂﬂm.r
5.
Collenchymas

!2Fmﬁﬁﬁm

Sclerenchma

NPT

| Parenchyma

TARTEAT

| Aerenchyma

X 3

p

Q.7 AfE x? 4 kx + k = 0F FE g TE & A k 7 AT w7 ¥ Frwer

HFRIOT HIM?
Ifx* + kx + k = 0 hasno solution, then the value of k will satisfy:

Ans x1'k}4
k>4
, 0<k<4
0<k<4
3]::*‘:4

k<4
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k>4
4.

k>—4

Q8 fReT Ueher Hgfcd I MaTST I FAT FET ST E:

A sound of single frequency is called a:

Ans
XL;nE

Note

@ 6561 T FETHS FAT EEM

What is the square root of 6561?
Ans x 1. 77
X 2.89
X 379
W 481

Q10 15 wradr 2018 ¥ FFAR &1 18 37, 2019 F Fi= @1 &= gem?
15% February 2018 is a Thursday. On what day will 18% April 2019 fall?

Ans CIGEIS

Pshe
X 3.
Friday

CCEIRS

y i
Wednesday

@ 576 T TS FAT E 2

What is the square root of 576?
Ans ,’ 1.24
< 236
X 326
X 4 34
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12 g ot rwer WAt ¢ S 37 gl

aifear AR il a1 @E
w7 8 | ot | gl | 9F | 9REw| s

40 | 37| 35 27

6 26| 76 86
8 |7 4 21
D 1 7 3 1

O\ m| >

Blw|(n|=

The Party which won the highest number of seats is ;

Parties and seats won
Serial | Party| South | East | West | North
No.
1 A 40 37 35 27
2 B 6 26 76 86
3 C 83 71 4 21
4 D 1 7 3 11
Ans x . A
X 2D
v 3B
X4cC

B Crafaf@a & @ #ia @ w9 sy §2
Which of the following salts is acidic in nature?
Ans m EFIEIT?I?:
v
Sodium Carbonate

wfzaa vdkee

X 2.
Sodium Acetate
| HHEIferas Biehe
Ammeonium Phosphate
, HTARTT TeAhe
Magnesium Sulphate

x

x

Q14 wmarg # A HEa T 170 R T e T 130k e A W e

The rate of discount on an article whose marked price is ¥ 170 and selling price is T 130
is:

Ans X 1.22.45%
X 2.24.26%
W 3 23.53%
X 4. 23.60%

Q.15
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e a1 FvE Fr wE wlaT A ol fifeT F FF ¥ T T =
A F9 H FFEOT FA E

U

Fo g% T {1 FO vy fardr woeg §

o

1. T o 72E §
2. 3o fegrdr wetgy o £

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statements:
Some carpenters are plumbers. Some plumbers are daily wage labourers.

Conclusions:
1. Some plumbers are carpenters.
2. Some daily wage labourers are plumbers.

L e R 2 e e 3

’ Only conclusion 2 follows.

1 3R 2 gl 3w N
Both 1 and 2 follow.

el frshd 1 JHgEoT FTe Bl

Only conclusion 1 follows.

4.HFﬂ13ﬂTHﬁ’2ﬂﬂﬂ?ﬂTm§I

v

x

x

Neither 1 nor 2 follows.

W18 frafaf@a & fAws 1 ggaE U
Identify the odd one out from the following:
GIEN
Ko ©
Air
A arg

Ans

52
Alloy

X3 &
Milk

7 alel
Water

Q.17 =fE ver am & ATy ¥ TaTed g1t S ﬁza?[umft 3 T et & AT e
T, 3 ¢ BeE 3 waTTed g1e aTer SerareiAl S HEAT Fr e mrenR ¥ e e
HhaTE?

If [ is the current through a wire and e is the charge of an electron, then the number of
electrons crossing in ¢ seconds will be given by:

Ans X 1. offt
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X 2 Jeft
v 3 Jt/e
K 4 Ite

Q18 3w Wit W * =Gw & = et 3 R @ eRfafte = b

&

C

Select the correct set that represents the following Venn diagram.

Ans STeel, HelSd, T
X =
Doctors, human beings, cows
gy, T, ST
N 2~

Males, fathers, doctors
x freelt, elsr, st

3.
Cat, toys, girl

W 2

T, N FHaar, fRfaa st

Office boys, government employees, educated person

U 37 3T H TS A WA T WA AL g

PIE[I]O

1 2 3 4
Select the letter which does NOT belong to the group.

P|E|T|O

1 2 3 4

Ans 1.2
21
x33
x4

Q2060 FT 15 % F 45% & aUeT
15% of 60 is 45% of

Ans
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X140
X 2.180
v 320
X430

Q.21 T FHROT &7 71 « 10* Hz T Higfee 3T 3108 ey afer @z Fra1fey & wrer st
=t g e §1 e e ded

A broadcasting station transmits waves with a frequency of 71 « 10* Hz and a speed of
3x10° m/s. The wavelength of the wave is:

Ans
X 1. 418.8 et
418.8 m

208.4 AT
208.4m
4225 #reT
4225 m
324.6 AT
324.6 m

V22 gttt 3 fore Gl 3T AT HT

The essential organs in a flower for reproduction are:

Ans x ;. TETEH AR GHE
1.
the sepal and stamen

et 3R T

) the stamen and pistil
sTETee 3R TGt

’ the sepal and petal

" the petal and pistil

52

" &)

X a.

v

x

X

Q.23 =fy sm 3 T & # & T87 F 1:2 F e # Rynfew B oo &
ar qrar & e T e

If T 87 was divided between James and Radha in the ratio 1 : 2, how much money did
Radha get?

Ans  of 1.7 29
X 2357
X 3359
X 43T58

Q.24 7% 2017 # FFm whw Taen agw F & B % wirEe OHF & §Y
TR F T F AET T w & B ddr sae e are

Which Indian tabla player won the Grammy Award for his collaborative music with *The
Silk Road Ensemble’ group in 20177

Ans
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WA &
Sandeep Das

x> et g8t
Zakir Hussein
X 3.
Rimpa Shiva
e THET
y 8
Yogesh Samsi

v

Q.25 =7 Finyer =7 drwa i FY o ¥ (2, 4), (-3, - 1) #R (5, 3) R ge
an

The area of the triangle whose vertices are given by (2, 4), (= 3, - 1) and (5, 3) is:

Ans >
xy?aﬂ‘fgaaém

7 sq. units

214av‘rsa:|émi

14 sq. units

x32031‘rsa:|ém

120 $q. units

10 F7 AT
v
10 5q. units

x

Q.26 At 2w @1v wual & wé A6 3 g7 Wviw # F svaAt @ St
F FFEAT T W O & W 8

T
5 ot 9 Haw A ¥ FE o HAw ¥= # ¥ Fo 3w &= A

forsa:
1. 3 oft B9 3w AE B
2. FrE or o9 T T8
3. T Ty A ¥
4. et B A B

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statement:
No mango is an orange. No orange is an apple. Some mangoes are apples.

Conclusions:
1. No apple is a mango.
2. No apple is an orange.
3. Some oranges are mangoes.
4. All apples are mangoes.

Ans X" q.
Fdol fsHY 1 T 3 =T ITedT & @&T &

Only conclusion 1 or 3 follow
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2%?%@-7&13?me1%1{5|%

| Only conclusion 1 follows

VVBWWZHMMd awEE
| Only conclusion 2 follows

X a4

Faer faswy 2 3R 3 g @ g 8@ @ @

Only conclusion 2 and 3 follow

x

Q.27 Frasr wAT H T 4400 AT H 8% TN T T T 4576 §1 SR, STETH U7 TEgE

== s g dar e
In what time will T 4400 become T 4576 at 8% per annum interest compounded half —
yearly?
Ans & ;:|'|g'
v
6 months
x 2 2 CL)
2 years
7 HIg
X 3.
7 months
x a1 Iv
1 year

QB samaFmemesitsd M Emil M Es T s
frdsr eI divadls Toa e S Pe 1 3w Fa FAT & & X
ZaRT few AT Ted Seadt B w5E &l

X attempts 94 questions and gets 141 marks. If for every correct answer 4 marks is given,
and for every wrong answer 1 mark is deducted, then the number of questions wrongly
answered by X is g

Ans  of 1. 47
X 2 40
X 3.57
X 4 45

Q.29
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RravmawRaR S A d Fa F s e s Rr @ &
T W FuaT T ¥

TP, QR ST TiRIdRn @i sia s mo & sta 7

FY:

1. T & a4t T Q §
2PHTTHEF T ASH

Consider the given question and decide which of the following statements is sufficient t
answer the question.

Five people, P, Q. R. S and T, are standing in a line: who is in the middle?

Statements:

1. Qistothe left of T.
2. Sisinbetween P and T.

Ans X" q.
YT 1 3R FUF 2 g & W F 7T F 3o & H TqEH 2
Both 1 and 2 are sufficient to answer the given question.
X 2
T 1 AT T ST F TeT & oo} & H WEH § g HUT 2 306 &

IGT F e F IR &7 H WEA 4 8
1 alone is sufficient while 2 alone is not sufficient to answer the given question.

X 3.
FUA 2 3T & I F T F Iocl &7 H WEA ¥ =g FUA 1 30 &

39T & WA N I & H OWEH ¢ §
2 alone is sufficient while 1 alone is not sufficient to answer the given question.

W
& U 1 AT AT & FUF 2 30 F U F 3o oA H TEA B
Neither 1 nor 2 is sufficient to answer the given question.

Q.30 sipan? i 1+ cos 30°

1+ cos30° sinz0? 5
sin 30° 1 + cos 30° .
1+ cos20” sin30°

Ans x13
<21
X2
V4

¥ e gk W H FAT b H T F HIET W 87
The energy stored in a dry cell is in the form of:

Ans
X o= w=
Potential energy

Zsrrﬁaﬁirmﬁ

' Nuclear energy

x
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| et S
Kinetic energy

, THfe® S
Chemical energy

x

v

Q.32 37 fawes & wgw #{ s Po=fafae o & fot & o dw af #

o

Select the option that represents the number of triangles in the following figure.

o

Ans X' 1. B
X2 4
X33
V45

Q3 Ue gIe =7
One Watt = ?

"1

1 erg/sec
1 urehe ufa A

F! Pascal/sec

|1 #iey ufd dhs
'1m/s

1 3o ufa Ths
i

1 Joule/sec

x

X

Q.34 Tt F 37 THI] FeAATA & R R Folepa et 1 427 ot S &:

The credit for classifying the elements on the basis of their atomic masses goes to:

Ans st Ao

v
Dmitri Mendeleev
X 2 AT Soed
John Dalton
xéﬁth$ﬂﬁmaﬁm
John Alexander Reina Newlands
g eRRT STadeT
X a. )
Johann Wolfgang Dobereiner
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Q.35 Fmer: 20 R 3T 5o Rream Foer arelr & avga & A amedor @ aw
foreem @, afy 3F & gt 2 e En

What will be the force of attraction between two bodies weighing 20 kg and 50 kg,
respectively, with a distance of 2 metre between them?

Ans X 1.16.675 X 10711 N
v 2.166.75 X 10"1° N
X 3667x10711N
X 41667 x571°N

Q.36 f&w 717 weer F cAAYEE W AR TAW BF FHE Fee & & fov fewfafae
waeAl #F @ Ft T T

A Tatyr forw a9 # der go A2

O
1, THAT A T ¥O frar @ 25 W o #
2. A TSt Fy ager S 1974 F Yay gF off 3% Rew § 35 v O A

Consider the given question and decide which of the following statements is sufficient to
answer the question.

What is the birth year of Mr. Rajesh?
Statements:

1. At present Mr. Rajesh is 25 years younger to his father
2. Mr. Rajesh’s sister who was born on 1974 is 35 years younger to his father

Ans 1.
Fa FUAT 2 TATTT § FATF FaeT FUA 1 AT &

Statement 2 alone is sufficient while 1 alone is insufficient
X2
Fad FUT 1 TATT ¢ FafF Faa FuT 2 H9ATT F

Statement 1 alone is sufficient while statement 2 alone is insufficient
v &)
FUT 1 3R FUT 2 ST T &
Both statements 1 and 2 are sufficient
x, BUA 1 AT HUA 2 gareT @

Either statement 1 or 2 is sufficient

Q37 & TS W A W IANEUT TEAT F TAA B

4, 9, 20, 44, 2

Select the number missing from the given number series.

4,0, 20, 44,7
Ans X 1.90
v 2. 95
X 380
X 4100

12/26
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Q.38 p* 7 wad O UecHS OiTE 8, B P ¥ 92 Wi ueeAs qoite N#ra
W= HEOTHT F TeT & w9 & 3 1 gFar g1 e g

‘P’ is the smallest positive integer such that every positive integer N greater than ‘P’ can
be written as a sum of two composite numbers, Then ‘P* is:

Ans  of 1.11
X226
X310
X 43

Q.39 f=fafam & & 7 TeuE 3w F o F #9 or F F o o are
Who among the following was NOT one of the ‘Nine Gems' of Emperor Akbar’s court?

Ans v T T @A
Osman Ali Khan
| T 2T Al
Raja Todar Mal
HIA- BTl Foa HARS

X 3.
Abu'l-Fazl ibn Mubarak

, T Ao
' Fakir Aziao-Din

x

Q.40 T UET R SR F2 T H ST TEAT §| TF g F e B F SR S T e
ﬁzia:rmmmhéﬁr#maﬂ'm e TR & T e T

A pipe can fill a sump with water in 2 hours. Because of a leak, it took 2 E hours to fill the
sump. The leak can drain all the water of the sump in:

Ans b
xm“ﬁ

6 hours
11 9
11 hours
8 T

8 hours
15 I
15 hours

X2

v &)

X a4

Q4 G sive g Wls gAdT 2017 Pl F AT & Shar an
Which Indian won the 2017 French Open Super series tournament?

e A s
Dipankar Bhattacharya
| Siie dlaw
George Thomas

Anilkumar Raju

x

x

13/26
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v . s
Srikanth Kidambi

Q.42 el fm g & T e o1 wiferelter a0 & =9 oifey & foneher &= &

qfthar SEemr &

The tendency of undisturbed objects to stay at rest or to keep moving with the same
veloeity is called:

Ans x1a?T

velocity

Q.43 ool # & #iw W urg 32 o MY e & Ty sfafear ol s ¥ 2
‘Which of the following metals does NOT react with cold or hot water?

Ans mmﬁm

Sodium

IR
Potassium
ioeram

Calcium

i 2

Aluminium

X 2

X 3.

Q.44 37 fawed & aa &, S & 7% =T JEen # @relr T 9v e

3611984 390 I L I

Select the option that will correctly fit in the blank space in the given figure series.

I—O—OO—O—O

.2

38119859

Ans

[
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X 3.

X a4 I_H

Q.45 #Frr 2w v = REf & &, 9 Ry oo R £ 9=l F w@r o & oame w71

Problem Figure

e

Answer Figures
A B C D

Problem Figure (F3-3T1a)
Answer Figure (Sterl-3THfo)
From the given four figures choose the correct water image of the below figure,

Problem Figure

e

2 B B
Ans ¥1D

xX2C

< 3B

X4 A

Q46 g 2020 FT Fe=T FiF T IT & TAT 2Em
The calendar for the year 2020 will be the same for the year:
Ans ,f 1. 2044
X 2.2076
X 3.2040
X 42096

Q.47 16 %% v w1 # 8 Rl F 9k 129 7 =F v W owEd § T
& A e i vE o w4 e F aRm s 9w e

A FA F fow freer gt #r s @
A piece of work can be done by 16 men in & days working 12 hours a day. How many
men are needed to complete another work, which is three times the first one, in 24 days
working & hours a day?
Ans 22 9%y
=

1.

22 men

15/26
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23 989
Koo o o2

23 men

25999
3. 2

25 men

24 97y
4 2

24 men

Ans

Q48 pH 7T & 7 ¥ 14 F #r g Ry Frww sl Fwr &

The pH value increase from 7 to 14 represents a:
5, OH 3Tt TEarT &7 HAT

decrease in OH- ion concentration
H™ 3ae @igar # g

2.
increase in H™ ion concentration

x 3 H* 3maeT gigar & FAT
decrease in H™ ion concentration
OH I TgaT & Jhg

4.

increase in OH- ion concentration

x

v

Q.49

Ans

v fifew & Fia @1 et Ry v FuF &1 ST e & §

FYA:
HFal|

fore:
1. FAIINET FT 98U F WY FEAET FF H WA & A Mgl
2. YEUR FT FHAET & WY LA Sl $7 g & S el

Decide which of the conclusions logically follow(s) from the information given in the
statement.

Statement:
A company cannot make profit unless both, management and employees work together.

Conclusions:

1. The workers should be advised to cooperate with the management.
2. The management must be advised to cooperate with the employees.

x1;rr-fr13$’trsr€rza@q1wm%

Neither 1 nor 2 follows
Faer fasHy 2 HTETOT T 7

Only conclusion 2 follows

Faer Ay 1 3TEIT FLT §
| Only conclusion 1 follows
137 2 2t srgeer Fe E

Both 1 and 2 follow

X 2

X 3

v

16/26
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2 frrer gt L

36 — [18 — {14 — (15-4 = 2x2)}]

Solve the following:

36 — [18 — {14 — (15-4 = 202)}]
Ans ?(1.20

X222

v 3 21

X 423

Qs‘lllQQDQ
AQHV

fow e Rt & ¥ ww #1 A o AR I w0 Ofy O g A
Rrsfre i S @ & it W et A W e g

1 2 3 4 5
6 7 8 9
If three groups could be formed using the given figures only once, these groups would be

Ane x, (1.9,4), (34,6 3 (258
(1,9,4),(3,4,6)and (2, 5, 8)

x> (1, 9, 6), (3, 5, 7) 3T (2, 4, 8)
(1,9, 6),(3,5,7) and (2, 4, 8)

s 2,9, 6), (3, 4,7 3k (1,5 8)
(2,9,6), (3,4, 7)and (1, 5, 8)

(1, 9, 6), (3, 4, 7) 3K (2, 5, 8)
| (1,9, 6), (3, 4, 7) and (2, 5, 8)

v

Q.52
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FieT W FeaR-3TFTa (Answer Figure) & 12 Wea-3Ffa (Problem Figure) &7
wér edur afafem §2

Problem Figure
A

&) |

B

Answer Figures

x| |

A B c D
‘Which of the Answer Figures is the correct mirror image of the given Problem Figure?

Problem Figure
A
B

A
X2

V3D
X< 4B

3 faw ae R @ wE RweT & @y 9 )

Ans

18/26
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Q.54 zr ar= A 3T B @l & #F Fn s vEE A wmw A H A C

qy stir S Y 45 62 F @l T 2ar § F9 B 3w v o9 @ oAl
gﬁnﬂﬁmiﬂmﬁ:ﬁ,mA;ﬂtcﬁmﬁmm?ﬁd&tm
oTET A F 35 T fea wn M 9rew B 7 = R ol W geR e A
# For 55 € & 9159 B & fhder e gemar war?

Two pipes A and B can fill an empty cistern in 18 and 27 hours, respectively. Pipe C can
drain the entire cistern in 45 hours when no other pipe is in operation. Initially. when the
cistern was empty Pipe A and Pipe C were turned on. After a few hours Pipe A was turmed

off and Pipe B was turmed on instantly. In all, it took 55 hours to fill the cistem. For how
matny hours was Pipe B tumed on?

Ans

Ans x1.50
W 2 45
X 3.30
X 427
Q.55 77 w{ &% Fum F & 7 TE F WTT FIA-W HFAA FHET T F

HFEOT T B

HYA:
TF Al HEIATS H U W § Fih SHE CEHATT g€ HSE-guee A o9 AT I
=& 9§ aSF o T

St
1. 3% & T ¥ & o7 0% 3 & et o

2. @F A W ¥ e 3w iy A
Consider the argument and decide which of the given assumptions is/are implicit,
Argument:
A mother is crying in the hospital as her only son died in a road accident while driving his
bike.
Assumptions:

1. The mother thinks it’s her son’s fault.
2. The mother thinks that God is not with her.

v
T B HFAT 1 AT L ¢ AR 7 & 2

Neither 1 nor 2 is implicit
X2
A 1 3R 2 3 & 3T N €

Both 1 and 2 are implicit

19/26
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el HATA 2 IHTHIOT FIl g
3.

Only assumption 2 is implicit
x o T A 1 SRR T g

Only assumption 1 is implicit

Q.56 == o T oot el & & 5edw & HEA v FAW Yot # IEgEIer HAr

%, 37 Ta=eT o7 939 =1 S B B # v v wvw fwe (7) # w=F wa
|

101 43 48 34
38 ?

35 15 58 184
A B

Assuming that the numbers in each of the following figures follow a similar pattern, select
the option that can replace the question mark (?) in figure B.

101 43 48 34

35 16 56 184
A B

ans 2 1.136
X 2127
x 3128
v 142

Q.57 g ¥ #ia W1 U welRiiT 7E # Iufud i #1 v F 3 | ow
e &7 & Ty anEar § 7

Which of the following glows with special colour depending on the nature of gas in the
fluorescent tube?

Ans
«1.70“33“

Plasma

R

Hydrogen

AT Hoe
Bose-Einstein condensate

x o ST

Helium

X2

Q58 aryfaes e @R # ot Fr FT R @ I §7
Metals are placed on which side of the Modern Periodic Table?

Top row

e

2 e
Right side

20/26
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ICECICICT
Bottom row
R AR
Left side

X 3.

o

Q59 wradt 2018 @, wiferar Feh F 0T 7T F WA FeA 82
As of February 2018, who is the India-born CEO of the Nokia company?

HAIIT f&g &
Ajaypal Singh Banga
2. W A3

Satya INadella
g s
Sundar Pichai
4 il E“ﬂ

Rajeev Suri

Ans

X

x

X 3.

v

Q.60 2refr ey 3 Ty EETEs ¥ S 3w & Tr-Ere AT 3wy s wfafear s E2

Metal oxides which react with acids as well as bases are called:

x 1 T HFHSS

Acidic oxides
X 2 ~ggol ATFHSS
Neutral oxides

: TFRIe e HFHES

Amphoteric oxides
X 4 &I HTFATSS

Basic oxides

Ans

v

Q61 s ey . 37 ¥ T UF AT I gRafad g ar § 2

In a plant. which of the following is converted into seed?

Ans aﬁa;m
K.

stigma
x , 3SR
ovary
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Q42 fahr oftryr # Fege e e qE W @ 37
What enables an electric current to flow in a circuit?
X F\'E\IJFI' A
The motion of neutrons

The motion of positrons
| Seler S aifer

The motion of protons
v SolFelar A

The motion of electrons

Ans

x

Q.63 2017 #F Ao samfe afvg (Fomsmddrad) s e smeha
AewAS F gEEHACT 96 fAfrT R ¥ weAEa faar

Which Indian chief minister was awarded the *Transformative Chief Minister Award’ by
Us-India Business Council (USIBC) in 2017?

% R T
K. Chandrashekhar Rao
AT qEATIR
Naveen Patnaik

v il

Chandrababu Naidu
o  Toeuda
p

' Siddaramaiah

X 2.

Q642 greg w & v 2 F fraem Sie i smEesar 87

How much does one need to add to f to obtain ;'?

Ans x1-
X 2.
“3-_—
?(4.%

m Tl o |

Q.65 afE ABCD Teh ThRT I &, T cos?A — cos? B — cosC + cos® D &1 1T 4T g2
If ABCD is a Cyclic Quadrilateral ,then the value of cos®A — cos®B — cos®C + cosD is:

Ans x1._1
V21
X 3.0
X 42

Q.66 [ ]
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"D E M N' & msfr 3erll &t coafiya 57F Ue W g FA 9T SHe
anfaEdy e == @

If all the letters “D E M N™ are arranged to form a meaningful word then the last letter of
the word will be:

Ans X' 1. E
X 2M
X 3N
v 4D

Q.67 s 2018 ¥ wgww T=7 = & wfffew wed Fum smaeT (vw.dna)
FegeT FHie ARET-HATE 2

Which Indian-American is the chairman of the prestigious Federal Communications
Commission (FCC) of the United States as of March 20187

ans i T

3.
Neil Chatterjee
) Awoa o3

Ajit Pai

v

Q.68 2017 & garfErg aTHT 3T S=uTE HEn SiER 3E Afer & e
e §7

Who is the author of the Indian English Novel ‘Sita: Warrior of Mithila® published in
20177

Ans X JfeeT oAt
Robin Sharma
V> HiFer Furdr
Amish Tripathi

4,
Chetan Bhagat

Q69 3T TG & Wi oA & T SRR T @ T w

BEAK : EIFQ :: SAIL :
Select the missing term from the related pair of letter clusters.

BEAK : EIFQ :: SAIL :
Ans X 1. RENV
# 2. VREN
v 3 VENR
< 4 VERN
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Q70 FHiF AT ARSI T=T WIATEE F1 A9 T 3c9eH T 87
Which Indian state is the largest producer of Soyabean?

Ans
X1 TEAT=eT 99T
Himachal Pradesh

3T T

Andhra Pradesh

HTUT=S Teer

Arunanchal Pradesh
TqET eor

| Madhya Pradesh

X2

X 3.

v

Q.71 faftre wifiat ZarT i wTe et i e eRa aRe F & T R

wAE. | T | gféior | od | aftew | sER
1 A | 40 37| 35 | 27
2 B 6 (26| 76 | 86
3 C | 83 |71 4 21
4 D 1 7 3 11

afe & et & smur w PeeRfte T = oSl

ot B & 87 ¥ T ST |E S
Parties and the seats won by them are listed in the following table.

S.No. |Party |South | East| West | North

40 37 35 27
6 26 76 86
83 71 4 21
1 7 3 11

| bt =
lwllglielg

Based on the given data, complete the following sentence:

Party B won the largest number of seats from the

Ans IR

Q.72 5442673314884743581 it #, Z1¥ 3w & W= 9 & &¢ ¥ ©H wEA
W &

In the series 5442673314884743581, the number that is sixth from the left of the seventh
term from the right is:
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Ans x 1.7
v23
31
<44

Q.73 & =1¥ wem-3piy (Problem Figure) & & scat-afaat (Answer Figures) &
¥ v & giEafee & 97 seor-angiy #iF @ 2

Problem Figure

1

Answer Figures

b4 |V[X

A B C D

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

1

Answer Figures

b4 |V[X

A E € D
Ans o 1 B
X 2D
X3 A
X 4C

Q.74 FATFeTaTS (MasterCard) ¥ HET wrwrT st st sreaer 2018 My AT
As of 2018, who is the CEO and president of MasterCard?

Ans x 1 TIE FHgeaTiorar

Waris Ahluwalia
v, T g s
Ajaypal Singh Banga
| TS g
Prabhjot Singh
aer fiig

Darsh Singh

X

X a4

Q.75 gzt & ofiram &9 2017 F g F wgaw # oRa F B W F g o

Which team did India defeat in the final of the 2017 Men’s Asia Cup Hockey to claim the
title?

Ans
x 1. =HeT
China
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| e
Bangladesh
V5 Herrarar
Malaysia
TR e
Pakistan

x

X a4
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